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Actual exam question from Oracle's 1z0-083
Question #: 1
Topic #: 1

[All 120-083 Questions]
Which three are true about thresholds, metrics, and server-generated alerts? (Choose three.)

A. All metrics are instance related.

B. Cleared stateful alerts are displayed by querying DBA_ALERT_HISTORY.

C. A space usage management alert is automatically cleared after the underlying problem is resolved.
D. They are generated by SMON when a tablespace is 97% full.

E. Metrics are statistical counts for a specific unit.

F. STATISTICS_LEVEL must be set to ALL to generate alerts.
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Actual exam question from Oracle's 1z0-083
Question #: 2

Topic # 1

[All 1z0-083 Questions]

While backing up to an SBT channel, you determine that the read phase of your compressed Recovery Manager (RMAN) incremental level 0 backup is a bottleneck.
FORCE LOGGING is enabled for the database.
Which two could improve read performance? (Choose two.)

A. Increase the size of tape I/0 buffers.

B. Disable FORCE LOGGING for the database.

C. Increase the size of the database buffer cache.
D. Enable asynchronous disk 1/0.

E. Increase the level of RMAN multiplexing.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 3

Topic # 1

[All 1z0-083 Questions]

For which two requirements can you use the USER_TABLESPACE clause with the CREATE PLUGGABLE DATABASE command? (Choose two.)

A. to specify a default tablespace in a PDB cloned from another PDB in the same CDB.

B. to exclude all tablespaces except SYSTEM, SYSAUX, and TEMP when plugging in a PDB
C. to include specific user tablespaces only when relocating a PDB

D. to specify the list of user tablespaces to include when moving a non-CDB to a PDB

E. to exclude a temp tablespace when plugging ina PDB

F to specify the list of tablespaces to include when creating a PDB from the CDB seed

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 4
Topic #: 1

[All 120-083 Questions]
Which three are true about requirements for various FLASHBACK operations? (Choose three.)

A. FLASHBACK transaction query requires undo to retrieve all versions of a row that existed between two points in time.
B. FLASHBACK drop requires that the RECYCLEBIN parameter be set to ON.

C. FLASHBACK version query requires that the RECYCLEBIN parameter be set to ON.

D. FLASHBACK DATA ARCHIVE requires undo to store all versions of all rows of a table being tracked.

E. FLASHBACK drop requires undo to retrieve all versions of a row that existed between two points in time.

F. FLASHBACK version query requires undo to retrieve all versions of a row that existed between two points in time.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 5

Topic # 1

[All 1z0-083 Questions]

Which three actions are performed by the Oracle Preinstallation RPM, oracle-database-server-xxxx-preinstall, for Oracle Grid Infrastructure, where xxxx is the Oracle
version and release? (Choose three.)

A. performing checks to ensure minimum configuration requirements for Oracle Grid Infrastructure are met
B. creating the oracle 0S user

C. creating the OSDBA (dba) group

D. creating the oralnventory (oinstall) group

E. creating the grid OS user

F configuring the OS for Oracle Automatic Storage Management shared storage access

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question # 6

Topic # 1

[All 1z0-083 Questions]

Which two are true about common objects? (Choose two.)

A. They can be created only in CDBSROOT.

B. They can be only metadata-linked in an application container.

C. They can exist in user-defined schemas only in application containers.
D. They can exist in CDB$ROOT and an application root.

E. They can be extended data-linked in CDBSROOT.

F They can be created only in an application root.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 7
Topic #: 1

[All 120-083 Questions]
Which two are true about the Automatic Database Diagnostic Monitor (ADDM)? (Choose two.)

A. It analyzes a period of time corresponding to the 12 hours of activity.
B. It runs automatically after each AWR snapshot.

C. ADBA can run it manually.

D. Results are written to the alert log.

E. It analyzes a period of time corresponding to the last day of activity.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 8
Topic #: 1

[All 120-083 Questions]
Which two are true about server-generated alerts? (Choose two.)

A. Stateful alerts must be created by a DBA after resolving the problem.
B. Stateless alerts can be purged manually from the alert history.

C. Stateless alerts can be cleared manually.

D. Stateless alerts are automatically cleared.

E. Stateful alerts are purged automatically from the alert history.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 9
Topic #: 1

[All 120-083 Questions]
Which three are located by using environment variables? (Choose three.)

A. the Optimal Flexible Architecture (OFA) compliant path to store Oracle software and configuration files.

B. the location of Oracle Net Services configuration files

C. the list of a disk group names to be mounted by an Oracle Automatic Storage Management (ASM) instance at startup
D. default directories for temporary files used by temporary tablespaces

E. the temporary disk space used by Oracle Installer during installation

F. the maximum number of database files that can be opened by a database instance
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Actual exam question from Oracle's 1z0-083
Question #: 10

Topic # 1

[All 1z0-083 Questions]

Which three are true about opatchauto? (Choose three.)

A. It performs a shutdown and then a restart of all processes in both Oracle Grid Infrastructure and Oracle Database home during the patching process.
B. It must be invoked by a user with root user privileges.

C. Patches are applied via opatchauto.

D. Users must always input patch plans to opatchauto.

E. It requires the Oracle Grid Infrastructure and Oracle Database instances to be shut down before being invoked.

F It applies patches in nonrolling mode by default.

G. It is used to apply interim patches to Oracle Grid Infrastructure and Oracle Database home combinations.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 11
Topic #: 1

[All 120-083 Questions]
Which two are true about the character sets used in an Oracle database? (Choose two.)

A. Single-byte character sets provide better performance than multibyte character sets.

B. Unicode enables information from any language to be stored using a single character set.

C. Unicode is the only supported character set for Oracle databases created using Database Configuration Assistant (DBCA).
D. Single-byte character sets always use 7-bit encoding schemes.

E. Multibyte character sets allow more efficient space utilization than single byte character sets.

F. Single-byte character sets always use 8-bit encoding schemes.
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Actual exam question from Oracle's 1z0-083
Question #: 12
Topic #: 1

[All 120-083 Questions]
Which three are true about monitoring waits for sessions and services? (Choose three.)

A. VSSESSION_EVENT displays all waits for all past and existing sessions if the wait has occurred at least once for a session.
B. VSSERVICE_EVENT displays all waits for all services if the wait has occurred at least once for a service.

C. VSSESSION_WAIT_CLASS displays waits broken down by wait class only for waiting sessions.

D. VSSESSION_WAIT and VSSESSION both contain details of the event on which a non-waiting session last waited.

E. VSSESSION_EVENT displays all waits for all past sessions if the wait has occurred at least once for a session.

F. VSSESSION_WAIT and VSSESSION both contain details of the event on which a session is currently waiting.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 13

Topic # 1

[All 1z0-083 Questions]

You must transport the UNIVERSITY tablespace from one database to another.

The UNIVERSITY tablespace is currently open read/write.

The source and destination platforms have different endian formats.

Examine this list of actions:

1. Make the UNIVERSITY tablespace read-only on the source system.

2. Export the UNIVERSITY tablespace metadata using EXPDP

3. Convert the UNIVERSITY tablespace data files to the destination platform format using RMAN on the source system.
4. Copy the UNIVERSITY tablespace data files to the destination system.

5. Copy the Data Pump dump set to the destination system.

6. Convert the UNIVERSITY tablespace data files to the destination platform format using RMAN on the destination system.
7. Import the UNIVERSITY tablespace metadata using IMPDP

8. Make the UNIVERSITY tablespace read/write on the destination system.

Which is the minimum number of actions required, in the correct order, to transport the UNIVERSITY tablespace?

A1,2,4578
B.1,2,4,6,7,8
C1,23457F8
D.1,2,3,4,56,7,8
E2456,7
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Actual exam question from Oracle's 1z0-083
Question #: 14

Topic # 1

[All 1z0-083 Questions]

Which two are true about 0S groups and users for Oracle Grid Infrastructure and the Oracle Relational Database Management System (RDBMS)? (Choose two.)

A. By default, members of the 0SASM group can access Automatic Storage Management and RDBMS instances.

B. The primary group for the Oracle Grid Infrastructure and Oracle Database owners must be the Oracle Inventory group.
C. The Oracle Grid Infrastructure installation must be owned by the grid user.

D. The Oracle Grid Infrastructure owner owns Oracle Restart and Oracle Automatic Storage Management binaries.

E. The Oracle Grid Infrastructure owner must have OSOPER, 0SBACKUPDBA, and 0SKMDBA as secondary groups.

F The same OSDBA group must be used for Automatic Storage Management and the Oracle Database.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 15

Topic # 1

[All 1z0-083 Questions]

Which four are true about duplicating a database using Recovery Manager (RMAN)? (Choose four.)

A. Duplication can be done by having the auxiliary database instance pull backup sets from the target database instance.
B. A connection to an auxiliary instance is always required.

C. A subset of the target database can be duplicated.

D. A new DBID is always created for the duplicated database.

E. A connection to the recovery catalog instance is always required.

F A backup of the target database is always required.

G. Duplication can be done by having the target database instance push copies to the auxiliary database instance.

H. A connection to the target database instance is always required.
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Actual exam question from Oracle's 1z0-083
Question #: 16

Topic # 1

[All 1z0-083 Questions]

A container database called CDB1 is OMF-enabled.
PDB_FILE_NAME_CONVERT is not configured in CDB1.
PDB1 was unplugged from CDB1 earlier in the week.
Examine this command, which will be executed in CDB1:

CREATE PLUGGABLE DATABASE pdb1 -

USING ~/u01/app/oracle/oradata/pdb1.xml'
SOURCE_FILE_NAME_CONVERT =
(*"/u01/app/oracle/oradata/’, "~ /u02/app/oracle/oradata/");
Which two are true? (Choose two.)

A. PDB1 data files already exist in the correct location.

B. DEMS_PDB.CHECK_PLUG_COMPATIBILITY must be run in CDB1 before executing the command.
C. PDB_FILE_NAME_CONVERT must be set before executing the command.

D. /u01/app/oracle/oradata/pdb1.xml does not contain the current locations of data files for PDB1.

E. PDB1 must be dropped from CDB1.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 17

Topic # 1

[All 1z0-083 Questions]

Which three are true about transporting databases across platforms using Recovery Manager (RMAN) image copies? (Choose three.)

A. By default, the transported database will use Oracle Managed Files (OMF)

B. Data files can be converted on the destination system.

C. Data files can be converted on the source system.

D. A new DBID is automatically created for the transported database.

E. Databases can be transported between systems with different endian formats.

F The password file is automatically converted by RMAN.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 18
Topic #: 1

[All 120-083 Questions]

Examine this command:
S rhpctl move database “"sourcehome Oracle_home_path “"destinationhome Oracle_home_path
For which two purposes can you use this command? (Choose two.)

A. to switch an existing Oracle Database home to a newer release of Oracle software on the same server
B. to switch to a read-only Oracle home

C. to switch back to the previous Oracle home as part of a rollback operation

D. to switch the Oracle Database home when using a centralized Rapid Home Provisioning server

E. to switch to a patched Oracle Database home

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 19

Topic # 1

[All 1z0-083 Questions]

Which two are true about changing the LOCAL_UNDO_ENABLED property to false in a CDB? (Choose two.)

A. After the change, only a common user with the required privilege can create an undo tablespace in COB&ROOT.
B. Any new PDB and existing PDBs are automatically configured to use the default undo tablespace in CDBSROOT.
C. After the change, only one undo tablespace can exist in CDOBSROOT

D. After the change, any user with the required privilege can create an undo tablespace in the PDBs.

E. Undo tablespaces existing in PDBs must be dropped before the change.

F After the change, each existing PDB has to be reopened for the new undo mode to take effect.

Show Suggested Answer




EXAMTOPICS PRO POPULAR EXAMS VIEW ALL EXAMS DOWNLOAD FREE

COURSES

CONTACT

FORUM

Actual exam question from Oracle's 1z0-083
Question #: 20
Topic #: 1

[All 120-083 Questions]
Which two are true about SQL Performance Analyzer (SPA)? (Choose two.)

A. It is integrated with the SQL Access Advisor.

B. It predicts the impact of system changes on SQL workload response time.

C. It provides before and after execution statistics for each SQL statement in the analysis task
D. It offers fine-grained analysis of all the SQL statements in the analysis task as a group.

E. SQL statements that were originally run concurrently are run concurrently by SPA.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 21
Topic #: 1

[All 120-083 Questions]

A user complains about poor database performance.
You want to verify if the user's session has waited for certain types of I/0 activity.
Which view displays all waits waited on by a session at least once?

A. VSSESSION_EVENT

B. VSSESSTAT

C. VSSESSION_WAIT

D. VSSESSION_WAIT_CLASS
E. VSSESSION

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 22
Topic #: 1

[All 120-083 Questions]
Which two are true about gathering optimizer statistics? (Choose two.)

A. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDBSROOT gathers object statistics in all open PDBs except PDBSSEED.

B. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to a PDB opened in read/write mode gathers object statistics for that PDB.

C. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDBSROOT gathers object statistics only in CDBSROOT.

D. System statistics can be gathered only while connected to CDBSROOT.

E. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDBSROOT gathers object statistics in all open pluggable databases (PDBs)

Show Suggested Answer
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Question #: 23

Topic # 1

[All 1z0-083 Questions]

Examine this output:

SQL> select pluggable database, shares, parallel server limit
2 from dba cdb rsrc plan directives where plan = ‘MY PLAN'
3 order by plugaable database;

PLUGGABLE DATABASE SHAREES PARATLEL SERVER LIMIT
ORASAUTOTASE 100
GRESDEFRULT_PDB_DIRECTI?E 1 0
PDEL 2 100
FDBZ 2 25
PDE3 1
SQL>» select name, wvalus from vSparameter

2 where name = ‘rescurce manager plan’;
NAME VALUE

resource manager plan MY PLAN

Which two are true? (Choose two.)

A. Any PDB not specified in the plan will be unable to execute statements in parallel.

B. PDB3 can use all available parallel execution processes at times.

C. PDB1 is always limited to 40% of the available system resources regardless of demand.

D. Any PDB not specified in the plan will be able to use a maximum of 16.5% of the available system resources.
E. PDB3 is guaranteed to receive at least 20% of the available system resources if there is enough demand.

F PDB2 is guaranteed at least 25% of the available parallel execution processes if there is enough demand.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 24
Topic #: 1

[All 120-083 Questions]
Which two are true about the execution of operating system scripts starting from Oracle Database 19¢? (Choose two.)

A. orainstRoot.sh can be executed automatically by the Database installer by using sudo or root credentials.
B. root.sh can be executed automatically by the Database Installer only if it is provided with root credentials.
C. The sudo password can be specified in a response file.

D. root.sh can be executed automatically by the Database installer only by using sudo credentials.

E. The sudo password must be specified in a response file.

F. The root password cannot be specified in a response file.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 25

Topic # 1

[All 1z0-083 Questions]

Automatic Shared Memory Management is disabled for one of your database instances.
Some SQL statements perform poorly due to excessive hard parse activity, thereby degrading performance.
What would be your next step?

A. Run the SQL Access Advisor.

B. Run the Memory Advisor for the shared pool.

C. Run the SQL Tuning Advisor.

D. Run the Memory Advisor for the Program Global Area.

E. Run the Memory Advisor for the System Global Area.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 26
Topic #: 1

[All 120-083 Questions]
Which two are true about flashback features in Oracle Database 19¢ and later releases? (Choose two.)

A. Flashback logs are automatically purged when DBE_FLASHBACK_RETENTION_TARGET is set lower than the time they have already been retained.

B. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_RETENTION_TARGET only after there is
space pressure.

C. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_RETENTION_TARGET before there is space
pressure.

D. Flashback logs are monitored for being older than the retention period defined in DB_FLASHBACK_RETENTION_TARGET and can be deleted by an administrator
written event trigger.

E. Flashback logs are automatically purged whenever the value of DB_FLASHBACK_RETENTION_TARGET is changed.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 27
Topic #: 1

[All 120-083 Questions]

Examine these queries and their output:
SQL> select log mode from vidatabase;

LOG MODE

ARCHIVELOG

SQL> select property name, property value
2 from database properties where property name like “%UNDO%’;

PROPERTY NAME PROPERTY VALUE

LOCAL UNDO ENABLED FALSE

8QL> select p.name, f.file#, t.name

2 from vScontainers p, vSdatafile £, vS%tablespace t
3 where p.con id=f.con_id
4 and p.com id=t.con_id
5 and t.ts#=f.ts#
© order by 1, 2;
NAME FILE# NAME
CDBSROOT 1 SYSTEM
PDE1 24 SYESTEM
PDB2 16 SYSTEM

After a system crash, an instance restart and an attempted opening of the PDBs result in:

SQL> startup quiet

ORACLE instance started.

Database mounted.

Database opened.

SQL> alter pluggable database all open;

alter pluggable database all open

ERROR at line 1:

ORA-01157: cannot identify/lock data file 24 - see DBWR trace file
ORA-01110: data file 24:
‘/u0l/oradata/vi122CDB1/516000726D464D04E054000C29704164/datafile/ol mf system dmj30kld_.dbf’

Which two are true? (Choose two.)

A. Data file 24 can be recovered while PDB2 is opened.

B. Data file 24 must be recovered while the CDB is opened.

C. Data file 24 can be recovered while COBSROOT and PDBSSEED are opened.
D. Data file 24 cannot be recovered while the CDB is opened.

E. Data file 24 must be recovered while PDB?2 is closed.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 28
Topic #: 1

[All 120-083 Questions]
Which two are true about RMAN duplexed backup sets? (Choose two.)

A. A duplexed backup set uses the same number of SBT channels as a non-duplexed backup set for the same number of files.
B. A non-duplexed backup set written to disk can be duplexed to disk by backing up the backup set that is already on disk.
C. A non-duplexed backup set written to SBT can be duplexed to tape by backing up the backup set that is already on tape.
D. A non-duplexed backup set written to disk can be duplexed to tape by backing up the backup set that is already on disk.
E. A non-duplexed backup set written to SBT can be duplexed to disk by backing up the backup set that is already on tape.

F. A duplexed backup set always uses twice as many SBT channels as a non-duplexed backup set for the same number of files.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 29

Topic # 1

[All 1z0-083 Questions]

Which three are true about RMAN persistent configuration settings, administration, and their effects? (Choose three.)

A. A target database's persistent RMAN configuration settings are always stored in the target's control file
B. Backup older than the recovery window retention policy are always deleted automatically if the backup location has insufficient space.

C. Backups written to the fast recovery area (FRA) that are obsolete based on the redundancy retention policy can be deleted automatically to free space.

D. The RMAN SHOW ALL command displays only settings with nondefault values.

E. A target database's persistent RMAN configuration settings are always synchronized automatically with the RMAN catalog.
F The VSRMAN_CONFIGURATION view displays only settings with values that have been modified.

G. A DBA must specify either a redundancy retention policy or a recovery window retention policy.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 30
Topic #: 1

[All 120-083 Questions]
Which three are true about Optimizer Statistics Advisor? (Choose three.)

A. It can be run only manually.

B. It is part of the DEMS_ADVISOR package.

C. It can recommend changes to improve the statistics gathering process.
D. It always analyzes all schemas in the database.

E. It runs automatically every night by default.

F. It is part of the DBMS_STATS package.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 31
Topic #: 1

[All 120-083 Questions]

You issued this command:
RMAN=> BACKUP RECOVERY FILES;
Which two are true? (Choose two.)

A. All Oracle recovery files not in the current FRA that have not been backed up already, are backed up.
B. All non-Oracle files in the current FRA that have not been backed up already, are backed up.

C. All Oracle recovery files in the current FRA that have not been backed up already, are backed up.

D. All Oracle recovery files in the current fast recovery area (FRA) are backed up.

E. These backups can be written to disk or SBT.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 32

Topic # 1

[All 1z0-083 Questions]

Which two are true about the Oracle database methodology? (Choose two.)

A. The Oracle Database time model should be used to find the database and instance areas most in need of tuning.
B. Tuning activities should stop once the user is satisfied with performance.

C. Tuning activities should stop once agreed service levels for performance have been met.

D. The database instance memory should always be tuned before tuning any file systems.

E. SQL statements should always be tuned before tuning any file systems.

F The alert log should be used to find the database and instance areas most in need of tuning.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 33

Topic # 1

[All 1z0-083 Questions]

While backing up to the Oracle Fast Recovery Area (FRA), you determined the backup is taking too long and suspect a performance bottleneck.
Which three are true about diagnosing and tuning these problems? (Choose three.)

A. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then both read and write 1/0 are likely bottlenecks.
B. Setting DBWR_IO_SLAVES to a non zero value can improve backup performance when using synchronous 1/0.

C. If an RMAN BACKUP VALIDATE command takes noticeably less than an actual backup, then write 1/0 is a likely bottleneck.

D. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then read 1/0 is a likely bottleneck.

F Setting DBWR_IO_SLAVES to a non zero value can improve backup performance when using asynchronous 1/0/

G. Data files with a high value in VSBACKUP_ASYNC_I0.SHORT_WAITS are a potential performance bottleneck when asynchronous 1/0 is used.

Show Suggested Answer

E. Data files with a high value in VSBACKUP_SYNC_IO.DISCRETE_BYTES_PER_SECOND are a potential performance bottleneck when synchronous 1/0 is used.
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Actual exam question from Oracle's 1z0-083
Question #: 34
Topic #: 1

[All 120-083 Questions]

You are managing this configuration:

1. CDB1 is a container database.

2. PDB1 and PDBZ are two pluggable databases in CDB1.

3. USER1.EMP is a table in PDB1 and USER2.DEPT is a table in PDB2.

CDB1 user SYS executes these commands after connecting successfully to PDB2:

SQL> ALTER SESSION SET CONTAINEE=pdbl;
Session altered.

SQL> INSERT INTO userl.emp VALUES (100, ‘Alan’,1):
1l row created.

SQL> INSERT INTO userl.emp VALUES(101. “Ben’, 1);
1l row created.

SQL> ALTEER SESSION ESET CGNTRINER=pdb2;
Session altered.

SQL> INSERT INTO user2.dept VALUES(1,’IT');
Which two are true? (Choose two.)

A. The inserts on USERT.EMP remain uncommitted when the session connected to PDB2.

B. The inserts on USER1.EMP were committed when the session inserted a row into USER2.DEPT.

C. The insert on USER2.DEPT fails because of the active transaction in the parent container.

D. The insert on USER2.DEPT is a recursive autonomous transaction by the child session and is committed.
E. The inserts on USER1.EMP were rolled back when the session connected to PDB2.

F. The insert on USER2.DEPT is uncommitted.

G. The inserts on USERT.EMP were committed when the session connected to PDB2.

Show Suggested Answer
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Question #: 35

Topic # 1

[All 1z0-083 Questions]

Examine this configuration:

1.CDB1 is an Oracle Database 12c Release 2 database containing pluggable databases PDBSSEED, PDB1, and PDB2.
2. PDBSSEED is open READ ONLY

3. PDB1 is open READ WRITE

4 PDB2 is MOUNTED.

5. ORACLE_HOME is /u01/app/oracle/product/18.1.0/dbhome_1.

You execute these commands before upgrading the database to the current release:

$ . oraenv
ORACLE SID = [cdbl] ? cdbl
The Oracle base remains unchanged with wvalue /u0l/app/oracle

$ SORACLE HOME/jdk/bin/java -jar preupgrade.jar TERMINAL TEXT

For which databases will fixup scripts be created?

A.CDB1, PDBSSEED, PDB1, and PDB2
B. PDBSSEED, PDB1, and PDB2 only
C.CDB1 and PDBSSEED only

D. CDBE1, PDE1, and PDB2 only

E. CDB1, PDBSSEED, and PDB1 only

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 36
Topic #: 1

[All 120-083 Questions]
Which two are true about Oracle Flashback features? (Choose two.)

A. FLASHBACK QUERY can retrieve REDO records from ONLINE and ARCHIVED REDO LOG files.

B. FLASHBACK VERSION QUERY can retrieve REDO records from ONLINE and ARCHIVED REDO LOG files.
C. FLASHBACK TABLE can undrop a column.

D. FLASHBACK DROP can undrop an index when undropping a table.

E. After a database is restored from flashback logs using the FLASHBACK DATABASE command, it is sometimes rolled forward using redo logs.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 37

Topic # 1

[All 1z0-083 Questions]

Which three are true about an application seed pluggable database (PDB)? (Choose three.)

A. It is automatically synchronized with its application root PDB when an application is upgraded.

B. It cannot be added to an application container after the application container has already been created.

C. A new application PDB created by cloning an application seed PDB can have an old version of the application installed after cloning completes.
D. It is automatically synchronized with its application root PDB when an application is installed.

E. It cannot be dropped from its application container.

F A new application PDB created by cloning an application seed PDB can have an up-to-date version of the application installed after cloning completes.

G. It is not required in an application container.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 38

Topic # 1

[All 1z0-083 Questions]

Examine this configuration:

1. CDB1 is a container database.

2. PDB1 and PDB2 are pluggable databases in CDB1.
3. PDB1 and PDB2 are OPEN in READ WRITE mode.
You execute these commands successfully:

5 export OFACLE SID=CDB 1
$ sglplus / as sysdba

SQL> ALTEE SESSICN SET CONTAINER = PDBL;
Session altered.

SQL> SHUTDOWN IMMEDIATE
Which two are true? (Choose two.)

A. Uncommitted transactions in PDB1 have been rolled back.

B. PDB1 is closed.

C. Uncommitted transactions in CDB1 and PDB1 have been rolled back.
D. CDB1 is shut down.

E.CDB1 isin MOUNT state

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 39
Topic #: 1

[All 120-083 Questions]

Which three are true about Automatic Workload Repository (AWR), Automatic Database Diagnostic Monitor (ADDM), and the Manageability Monitor (MMON)
background process? (Choose three.)

A. ADDM can recommend shrinking the buffer cache.

B. ADDM can recommend extending the buffer cache.

C. By default, MMON creates an AWR snapshot every 30 minutes.

D. ADDM performs its analysis only when a DBA requests it.

E. By default, AWR snapshots are automatically purged after eight days.

F. AWR snapshots must be deleted when no longer required by ADDM.
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Actual exam question from Oracle's 1z0-083
Question #: 40

Topic # 1

[All 1z0-083 Questions]

Examine the command for creating pluggable database PDB2 in container database CDB2.

CREATE PLUGGABLE DATABASE pdbZ2
ADMIN USEER pdbZ adm
IDENTIFIED BY 123pdb
ROLES= (CONNECT) ;

Select three options, any one of which is required for it to execute successfully. (Choose three.)

A. Add the FILE_NAME_CONVERT clause to the statement and set the PDB_FILE_NAME_CONVERT parameter.
B. Add only the CREATE_FILE_DEST clause to the statement.

C. Set only the PDB_FILE_NAME_CONVERT parameter.

D. Set the PDB_FILE_NAME_CONVERT parameter and enable OMFE

E. Enable only OMF.

F Add the FILE_NAME_CONVERT clause to the statement and enable Oracle Managed Files (OMF)

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 41

Topic # 1

[All 1z0-083 Questions]

Which two are true about Recovery Manager (RMAN) diagnostic message output? (Choose two.)

A. Media Management messages for SBT devices are always written to sbtio.log.

B. RMAN error stacks should be read from the bottom up as that is the order in which errors are generated.

C. RMAN error stacks should be read from the top down as that is the order in which errors are generated.

D. The RMAN LOG command line clause causes output issued during RMAN command compilation to be written to a log file and to standard output.
E. The RMAN LOG command line clause causes output issued during RMAN command compilation to be written to a log file only.

F Media Management messages for SBT devices are written to an Oracle trace file.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 42

Topic # 1

[All 1z0-083 Questions]

Which three are true about managing memory components in an Oracle database instance? (Choose three.)

A. With Automatic Shared Memory Management, the database instance can increase the Large Pool size by reducing the Shared Pool size.
B. With Automatic Memory Management, the database instance can increase the System Global Area size by reducing the Program Global Area size.
C. Automatically tuned and resized System Global Area components will always revert to their initial sizes after an instance restart.

D. Automatic Memory Management must be used together with locking the System Global Area into physical memory.

F On Line Transaction Processing systems often use less Program Global Area than Decision Support Systems.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 43

Topic # 1

[All 1z0-083 Questions]

A database is configured in ARCHIVELOG mode.

Full RMAN backups are taken daily and no backup to trace has been taken of the control file.
A media failure has occurred.

In which two scenarios is complete recovery possible? (Choose two.)

A. when any archived log from, before, or after the most recent backup is corrupt.
B. after losing all copies of the control file

C. after losing an archived log from after the most recent backup

D. after losing an archived log from before the most recent backup

E. after losing the SYSTEM tablespace
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Actual exam question from Oracle's 1z0-083
Question #: 44

Topic # 1

[All 1z0-083 Questions]

Which three are true about Database Point-in-Time Recovery? (Choose three.)

A. The database must have FLASHBACK DATABASE ON to perform Database Point-in-Time Recovery.
B. The database must be in MOUNT state when performing Database Point-in-Time Recovery.

C. Database Point-in-Time Recovery is performed by the Managed Recovery Process (MRP)

D. The Database must be in ARCHIVELOG mode.

E. The target point for the recovery must be specified as a stime or System Change Number (SCN).

F The database must be open RESETLOGS after Database Point-in-Time Recovery.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 45
Topic #: 1

[All 120-083 Questions]
Which three are true about the SQL Tuning Advisor? (Choose three.)

A. It checks each query being analyzed for stale statistics.

B. It checks each query being analyzed for missing statistics.

C. It only recommends syntactic changes to SQL statements.

D. It can recommend semantic changes to SQL statements.

E. It considers all SQL statements being analyzed by the advisor task as a group.

F. It builds SQL profiles for each poorly performing SQL statement to prevent regressions.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 46

Topic # 1

[All 1z0-083 Questions]

Which two are true about duplicating pluggable databases (PDBs) with RMAN? (Choose two.)

A. Two or more PDBs can be duplicated with the same RMAN DUPLICATE command.

B. All tablespaces belonging to a PDE must be duplicated when duplicating the PDB.

C. The auxiliary instance is automatically created with ENABLE_PLUGGABLE_DATABASE = TRUE.
D. A user with SYSDBA or SYSBKUP must use RMAN logged in to a PDB in order to duplicate it.
E. CDBSROOT and PDBSSEED are automatically duplicated if a PDB is duplicated.
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Actual exam question from Oracle's 1z0-083
Question #: 47

Topic # 1

[All 1z0-083 Questions]

Which three are true about Rapid Home Provisioning (RHP), which has been available since Oracle 18c? (Choose three.)

A. Itis an Oracle Database service.

B. It can be used to deploy Oracle Database homes.

C. It cannot be used to provision applications.

D. It can be used to deploy Grid Infrastructure homes, including Oracle Restart.
E. It cannot be used to provision middleware.

F It is an Oracle Grid Infrastructure service.
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Actual exam question from Oracle's 1z0-083
Question #: 48

Topic # 1

[All 1z0-083 Questions]

Examine this configuration:
1. CDB1 is a container database.
2. COMMON_USER_PREFIX is C##.
3. PDB1 is a pluggable database contained in CDB1.
4 APP1_ROOT is an application container contained in CDB1.
5. APP1_PDB1 is an application PDB contained in APP1_ROOT.
You execute these commands successfully:
$ sglplus sys/oracle 4U@localhost:1521/cdbl as sysdba

SQL> CREATE USER c##userl identified by oracle_ 4U container=all;
User created.

SQL> ALTEER SESSION SET CONTAINEER=pdbl;
Session altered.

SQL> CREATE USER pl userl identified by oracle 4U;
User Created.

S0L> ALTEERE SESSION SET CGNTHINER=app1_rOOt;
Session altered.

SQL> ALTER PLUGEZAEBLE DATABASE APPLICATION appl_cdbl_app BEGZIN INSTALL '1.0';
Session altered.

SQL> CREATE USER appl userl IDENTIFIED BY oracle 47;
User Created.

SQL> ALTER PLUGGABLE DATABASE APPLICATION appl cdbl app END INSTALL ‘1.07;
Pluggable database altered.

Which two are true? (Choose two.)

A. APP1_USERT can be created in PDB1.

B. APP1_USERT can be created in CDB1.

C. APP1_USER1 can have different privileges in each Application PDB contained in APP1_ROOT.
D. C##_APP_USER1 can be created in CDB1.

E. P1_USER1 can be created in CDB1.

F C##_USERT will have the same privileges and roles granted in all PDBs in CDB1.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 49

Topic # 1

[All 1z0-083 Questions]

Which two are facets of performance planning that should always be considered or implemented for an Oracle Database environment? (Choose two.)

A. defining primary keys for all tables to speed up all queries
B. using check constraints to speed up updates

C. defining foreign keys for all tables to speed up joins

D. the physical data model

E. the configuration of storage arrays

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 50

Topic # 1

[All 1z0-083 Questions]

Which three actions are performed by Database Upgrade Assistant (DBUA)? (Choose three.)

A. It recompiles all stored PL/SQL code by using utlrp.sql.

B. It empties the RECYCLE BIN.

C. It performs prerequisite checks to verify if the Oracle database is ready for upgrade.
D. It sets all user tablespaces to a€read-onlya€ before starting the upgrade.

E. It removes the AUDSYS schema and the AUDIT_ADMIN and AUDIT _VIEWER roles

F It increases tablespace size, if required, to meet upgrade requirements.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 51
Topic #: 1

[All 120-083 Questions]
Which two are true about RMAN backups when using a media manager to write backups to tape when there are only two tape drives? (Choose two.)

A. SBT tape compression can be used even if no RMAN compression is configured.

B. Any backup set written to the SBT device in this configuration can contain a maximum of two backup pieces.
C. Any backup written to the SBT device in this configuration can contain a maximum of two backup sets.

D. SBT tape compression and RMAN backup compression should be used in parallel.

E. The 5BT device should be configured to use PARALLELISM 2 to allow both tape drive to be used simultaneously.

Show Suggested Answer
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Topic #: 1

[All 120-083 Questions]

You plan to install Oracle Grid Infrastructure for a Standalone Server and Oracle Database for the first time on a server.
Examine this command and its outcome:

# i1d cracle
uid=54321 (orcale) gid=54321(ocinstall) groups=54321(ocinstall), 54322 (dba)

Which two are true? (Choose two.)

A. oracle will be an owner of the Oracle Inventory.

B. oracle must be the owner of every Oracle Database installation.

C. oracle can own an Oracle Database installation but not an Oracle Grid Infrastructure installation.
D. oracle will be granted the SYSASM privilege when installing the Oracle Database software.

E. The user account, oracle, and group, oinstall, can be used for all Oracle software installations.

Show Suggested Answer
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Topic # 1

[All 1z0-083 Questions]

Examine this configuration:

1. CDE1 is a container database rumning in ARCHIVELOGC mode.

2. Controlfiles of CDE1 are multiplexed in
‘/ull/app/oracle/oradata/CDBl/controlfile/controlfilell.ctl” and
Y/ulZ/app/oracle/fast recover area/cdbl/CDBEl/controlfilel2.ctl’.
3. The only backup of CDB1 was taken when CONTROLFILE AUTOBACK was OFF

4 SNAPSHOT CONTROLFILE NAME is
‘/u0l/app/oracle/product/12.2.0.1/db_1/dbs/snapcf cdbl.f".

While CDB1 is open, “~/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl' is accidentally deleted.
To recover from this critical failure, you execute these commands:
$ rman target sys/oracle 4U@localhost:1521/cdbl

EMAMN> SHUTDOWN ABOET
Oracle instance shut down
EMAMN> STAETUP NCOMOUNT

EMAN EESTOEE CONTEOLFILE FEOM
‘/ull/app/oracle/oradata/CDBl/controlfile/controlfilell.ctl’;

What will be the outcome?

A. It will create 'SORACLE_HOME/dbs/cdb1/CDB1/controlfile02 ctl

B. It will create 'fu01/app/oralce/oradata/CDB1/controlfile/controlfile02.ctl’

C. It will re-create '/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02 ctl'

D. It will create 'fu01/app/oracle/product/12.2.0.1/db_1/dbs/snapcf_cdblcontrol02.ctl'

E. It will fail because there is no autobackup of the controlfiles.
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[All 120-083 Questions]

Examine these actions:

1. Create a new database for a recovery catalog.

2. Create a tablespace with sufficient space in the catalog database for the recovery catalog.

3. Configure ARCHIVELOG mode for the catalog database.

4. Create a user to own the recovery catalog schema with quota on the tablespace that will contain the catalog.
5. Grant the RECOVERY_CATALOG_OWNER role to the recovery catalog schema owner.

6. Grant the SYSBACKUP privilege to the recovery catalog schema owner.

Which are the minimum actions that must be performed before executing the CREATE CATALOG command?

A 2,4,506
B.1,2,3,456
C.1,245
D.2,4,5
E.1,3,4,5
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Actual exam question from Oracle's 1z0-083
Question #: 55
Topic #: 1

[All 120-083 Questions]
Which two are true about creating pluggable databases (PDBs) using snapshots in Oracle 19¢ and later releases? (Choose two.)

A. A PDB snapshot is always a full copy of the source PDB.

B. A PDB snapshot is always a sparse copy of the source PDB.

C. A snapshot copy PDB depends on a storage snapshot which can only be stored on specific file systems.
D. A PDB snapshot depends on a storage snapshot which can be stored on any file system.

E. A PDB snapshot depends on a storage snapshot which can only be stored on specific file systems.

F. A snapshot copy PDB depends on a storage snapshot which can be stored on any file system.

G. A snapshot copy PDB can be created from a stand-alone clone PDB.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 56

Topic # 1

[All 1z0-083 Questions]

Which two are true about Oracle Database Configuration Assistant (DBCA) templates? (Choose two.)

A. The General Purpose of Transaction Processing templates are most suitable when concurrency and recoverability are key criteria.
B. Oracle DBCA templates can store only logical structure and not database files.

C. New templates can only be created by modifying an existing user-created template.

D. The Data Warehouse template is most suitable when transaction response time is the key criterion.

E. Oracle DBCA templates can be used to create new databases and duplicate existing databases.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 57

Topic # 1

[All 1z0-083 Questions]

Your SALES_ROOT application container has two application PDBs.
The SALES_APP application has a common table, FIN.REVENUE, in the two PDBs.
Examine this query and its output:

SELECT containers default, container map, table name
FROM dba tables WHERE owner='FIN';

CONTAINERS DEFAULT CONTAINER MAP CONTAINER MAP OBJECT TABLE NAME

NO YES NO REVENUE
N NO YES MAPTABLE

Which two are true? (Choose two.)

A The CONTAINERS clause cannot be used in queries on the REVENUE table.

B. The REVENUE table must be a list-partitioned table.

C. The MAPTABLE tables defines a logical partition key on a commonly used column for the REVENUE table.
D. The MAPTABLE table is a metadata-linked table.

E. A container map exists for the REVENUE table, but is not enabled.

F The REVENUE table partitions are not pruned across the PDBs automatically.

Show Suggested Answer
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[All 120-083 Questions]

Your container database, CDB1, has an application container, HR_ROOT, with an application PDB, HR_PDB1.
You have the required privilege to clone HR_PDB1 to container database CDB2, which does not contain HR_LROOT.
Which two are always true? (Choose two.)

A. CDB1 and CDB2 must be in shared undo mode.

B. A common user must exist in CDB2 with the CREATE PLUGGABLE DATABASE privilege.
C. All transactions in HR_PDB1 of CDB1 must commit before the cloning process starts.
D. Cloning HR_ROOT automatically clones HR_PDB1.

E. The HR_PDB1 clone created in CDB2 will be in mount state when cloning ends.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 59

Topic # 1

[All 1z0-083 Questions]

Which three are true about backup, restore, and recovery operations done without using Recovery Manager (RMAN)? (Choose three.)

A. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in the MOUNT state.
B. Backing up a database in ARCHIVELOG mode using 0/S utilities requires that the database instance be started and the database be in MOUNT state.

C. An Oracle database can be restored from backup files copied using 0/S utilities.

D. Oracle data file backups, copied using an 0/S utility, can be added to the RMAN catalog as IMAGE COPIES.

E. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance be shut down.
F Oracle archive log backups, copied using an 0/S utility, can be added to the RMAN catalog as a backup set.

G. Backing up a database in ARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in OPEN state.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 60
Topic #: 1

[All 120-083 Questions]

Examine this configuration:

1. CDB1 is a container database.

2. PDB1 and PDBZ are pluggable databases in CDB1.
You execute these commands successfully:

$ export ORACLE SID=cdbl

$sglplus / as sysdba

SQL> SHUTDOWN IMMEDIATE
Oracle instance shut down.
SQL> STARTUP MOUNT

Database mounted.
Which two are true? (Choose two.)

A. PDB1 and PDBZ2 are in MOUNT state.

B. Redo logs are opened.

C. PDB1 and PDB2 are in READ ONLY state.
D. CDBSROOT is in MOUNT state.

E. PDBSSEED is in READ ONLY state.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 61
Topic #: 1

[All 120-083 Questions]
Which three are true about upgrading Oracle Grid Infrastructure? (Choose three.)

A. A direct upgrade can be performed only from the immediately preceding Oracle Grid Infrastructure version.
B. The newer version is installed in a separate Oracle Grid Infrastructure home on the same server as the existing version.

C. An existing Oracle base can be used.

D. The upgrade process will automatically install all mandatory patches for the current version of Oracle Grid Infrastructure.
E. Existing Oracle Database instances must be shut down before starting the upgrade.

F. Only the grid user can perform the upgrade.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 62

Topic # 1

[All 1z0-083 Questions]

A database is configured in ARCHIVELOG mode.

A full RMAN backup exists but no control file backup to trace has been taken.
A media failure has occurred.

In which two scenarios is incomplete recovery required? (Choose two.)

A. after losing a SYSAUX tablespace data file

B. after losing all members of an INACTIVE online redo log group
C. after losing all members of the CURRENT online redo log group
D. after losing all copies of the control file

E. after losing an UNDO tablespace that is in use
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Actual exam question from Oracle's 1z0-083
Question #: 63
Topic #: 1

[All 120-083 Questions]

Which two are true about instance recovery? (Choose two.)

A. It is not possible if an archived log is missing.
B. It is performed automatically after the database is opened; however, blocks requiring recovery are not available until they are recovered.

C. Setting FAST_START_MTTR_TARGET to a lower value reduces instance recovery time by causing dirty buffers to be written to disk more frequently, thereby
reducing the number of I/0s needed during instance recovery.

D. It is performed by the Recovery Writer (RYWR) backaround process.

E. Setting FAST_START_MTTR_TARGET to a higher value reduces instance recovery time by causing the log writer to write more frequently, thereby reducing the
number of I/0s needed during instance recovery.

F. It is performed automatically while the database remains in MOUNT state. Then the database is opened.

Show Suggested Answer
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Question #: 64

Topic # 1

[All 1z0-083 Questions]

Which two are true about Oracle Optimizer Statistics, their use, and their collection? (Choose two.)

A. The number of table rows is considered when evaluating the cost of accessing a table using an index.
B. Index balanced B*Tree height is considered when evaluating the cost of using an index.

C. The Statistics Advisor can help recommend the best way to gather statistics.

D. Statistics collected using DBMS_STATS always yield the best optimizer result.

E. The Statistics Advisor generates actions for all recommendations.

Show Suggested Answer
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[All 1z0-083 Questions]

A container database (CDB) contains two pluggable databases PDB1 and PDB2.

The LOCAL_UNDO_ENABLED database property is set to FALSE in the CDB.

Data file 24 of PDB2 was deleted and you need to restore and recover it.

The only RMAN backup that exists was created with the BACKUP DATABASE command while connected to CDBSROOT.
Which three are true? (Choose three.)

A. Data file 24 can be recovered only while connected to PDB2.

B. Data file 24 can be restored and recovered while connected to CDB$ROOT
C. Data file 24 can be restored only while connected to CDBSROOT.

D. Data file 24 can be restored only while connected to PDB2.

E. Data file 24 can be recovered while connected to PDB2.

F Data file 24 can be recovered while connected to CDBSROOT

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 66

Topic # 1

[All 1z0-083 Questions]

Which two are true about data movement between a non-CDB and a PDB using Data Pump? (Choose two.)

A. Tablespaces are automatically created as needed while importing full exports in either a non-CDB or a PDB.

B. Oracle attempts to convert conventional database users to local users when moving schemas from a non-CDB to a PDB.
C. Anew PDB is automatically created when importing a non-CDB into a CDB.

D. Oracle attempts to convert common users to conventional users when moving schemas from a PDE to a non-CDB.

E. Moving data from a PDB to a non-CDB is only possible by using transportable tablespace export and import.

F Moving data from a non-CDB to a PDB is only possible by using conventional export and import.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 67
Topic #: 1

[All 120-083 Questions]
Which three methods can be used for heap table data migration after upgrading a database? (Choose three.)

A. using Database Replay

B. using SQL Developer

C. using Oracle Data Pump

D. using operating system file copy utilities
E. using Database Upgrade Assistant

F. using the CREATE TABLE AS SELECT 5QL statement

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 68
Topic #: 1

[All 120-083 Questions]
Which two are true about Oracle instance recovery? (Choose two.)

A. Recovery begins from the beginning of the CURRENT redo log group.

B. Recovery begins from the last checkpoint position that was calculated by the Database Writer before instance failure.

C. Recovery begins from the start of any ACTIVE redo log group or the start of the CURRENT log group if no other group is ACTIVE.
D. Recovery reads redo until the end of the redo thread. SMON rolls back any dead transactions, and then the database is opened.
E. Recovery begins from the last checkpoint position that was recorded in the control file by the checkpoint process (CKPT).

F. Recovery reads redo until the end of the redo thread, and then opens the database. SMON then rolls back any dead transactions.

Show Suggested Answer
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Question #: 69

Topic # 1

[All 1z0-083 Questions]

Examine this configuration:

1. The ORCL database data files are in Automatic Storage Management (Oracle ASM) disk group +DATA.
2. ORCL uses disk group +FRA for the Fast Recovery Area.

3. LISTENER is the listener for ORCL.

4. The database, listener, ASM instance, and ASM disk groups are managed by Oracle Restart.

5. All components are currently shut down.

You execute this command:

5 srvetl start database —-d ORCL

What is the outcome?

A. The ORCL database, the Oracle ASM instances, the +DATA and +FRA disk groups, and the LISTENER are started.
B. Only the ORCL database instance is started.

C. Only the ORCL database and the ASM instances are started.

D. Only the ORCL database instance, the Oracle ASM instance, and the +DATA and +FRA disk groups are started.

E. Only the ORCL database instance and the +DATA and +FRA disk groups are started.

Show Suggested Answer

CONTACT

FORUM

Q




EXAMTOPICS PRO POPULAR EXAMS VIEW ALL EXAMS DOWNLOAD FREE COURSES CONTACT FORUM Q

Actual exam question from Oracle's 1z0-083
Question #: 70

Topic # 1

[All 1z0-083 Questions]

Which four are true about a Recovery Manager (RMAN) duplication without a TARGET connection? (Choose four.)

A. The NOREDO clause must be used if the backups of the database being duplicated were taken when the database was in NOARCHIVELOG mode.
B. The UNDO TABLESPACE clause is always required when no connection exists to the TARGET instance.

C. RMAN 1€pushesa€ the backups of the database to be duplicated over the network to the auxiliary instance.

D. The NOREDO clause can be used if the backups of the database being duplicated were taken when the database was in ARCHIVELOG mode.

E. RMAN SBT-based backups of the database to be duplicated can be used by the auxiliary instance.

F The UNDO TABLESPACE clause is always required when no connection exists to the recovery catalog and the TARGET database is closed.

G. The UNDO TABLESPACE clause is always required when no connection exists to the recovery catalog and the TARGET database is opened.

H. RMAN disk-based backups of the database to be duplicated can be used by the auxiliary instance.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 71

Topic # 1

[All 1z0-083 Questions]

Which three are true? (Choose three.)

A. Virtual Private Database (VPD) policies on objects in an application root are automatically synchronized with all application PDBs contained in the application
container.

B. Application-common TSDP policies are always container specific.

C. Application-common Transparent Security Data Protection (TSDP) policies can be created only within an application install/patch BEGIN-END block.
D. Application-common Oracle Label Security (OLS) policies cannot be created in an application root outside an install/patch BEGIN-END block.

E. Fine-grained auditing (FGA) policies in an application root are automatically synchronized to all application PDBs contained in the application container.
F Application-common OLS policies can be created in an application root inside an install/patch BEGIN-END block.

G. Unified auditing can be automatically synchronized to all application PDBs in an application container.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 72

Topic # 1

[All 1z0-083 Questions]

Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.

B. Its collection level is determined by the value of the STATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.

D. The taking of AWR snapshots can be disabled.

E. AWR data is stored in the SYSTEM tablespace.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 73
Topic #: 1

[All 120-083 Questions]
Which two are true about automatic block repair? (Choose two.)

A. Automatic block repair can repair blocks with no standby database if DB_BLOCK_CHECKING = TRUE.

B. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on that physical standby database.
C. Real-Time Query must be enabled on a primary database for automatic block repair to be done on any of its physical standby databases.

D. It is not possible for media corrupt blocks.

E. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on its primary database.

Show Suggested Answer
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Question #: 74
Topic #: 1

[All 120-083 Questions]

Oracle Managed Files (OMF) is enabled in a CDB and this command is successfully executed:

CREATE PLUGGABLE DATABASE appl
A5 APPLICATION CONTAINER
ADMIN USER adminl IDENTIFIED BY app 123 ROLES=(CONNECT) ;

Which three are true? (Choose three.)

B. An application seed PDB is created for APP1.

C. An application root PDB is created for APP1.

D. A default service is created for the application root APP1.

E. Application PDBs that are subsequently created in the APP1 application container will be cloned from PDBSSEED.

F. APP1 can never be unplugged.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 75

Topic # 1

[All 1z0-083 Questions]

Which two are true about RMAN encryption? (Choose two.)

A. RMAN encryption keys are stored in a database keystore.

B. RMAN can encrypt the Oracle Database password file.

C. Dual-mode encrypted backups can be restored only if both the password and the keystore used for encryption are available.
D. The SET ENCRYPTION command overrides encryption settings specified by the CONFIGURE ENCRYPTION command.

E. Password encryption can be persistently configured using the CONFIGURE ENCRYPTION command.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 76
Topic #: 1

[All 120-083 Questions]
Which three are true about performing an Oracle Database install on Linux? (Choose three.)

A. The runfixup.sh script can install missing RPMs.

B. The Oracle Preinstallation RPM must be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.

C. It allows you to select the languages supported by the Oracle database server.
D. It can be done before installing Grid Infrastructure for a Standalone Server.

E. The Oracle Preinstallation RPM can be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.

F. It can be done after installing Grid Infrastructure for a Standalone Server.

G. The Oracle database administrator must be granted access to the root operating system account to tun root privileged scripts.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 77

Topic # 1

[All 1z0-083 Questions]

Which three are true about Recovery Manager (RMAN) in Oracle Database 19c¢ and later releases? (Choose three.)

A. It is only possible for RMAN to connect to a pluggable database as a target if an RMAN Virtual Private Catalog is used.
B. It is always possible for RMAN to connect to a pluggable database as a target if any RMAN Catalog is used.

C. A Virtual Private Catalog used to register a container database must be created in a pluggable database.

D. A Virtual Private Catalog used to register a container database can be created in a pluggable database.

E. It is always possible for RMAN to connect to a pluggable database as a target.

F A Virtual Private Catalog used to register a container database can be created in a non-container database.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 78

Topic # 1

[All 1z0-083 Questions]

Which three are true in Oracle 19c¢ and later releases? (Choose three.)

A. If the password file location changes, then the new location is used automatically by the Oracle Server.
B. Schema Only accounts can be granted administrator privileges.

C. All the Oracle-supplied accounts are Schema Only accounts.

D. Privilege Analysis is included in Oracle Enterprise Edition and no longer requires Database Vault.

E. Unified Auditing can be configured to audit only events that are issued indirectly by an audited user.

F Unified Auditing can be configured to audit only events that are issued directly by an audited user.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 79

Topic # 1

[All 1z0-083 Questions]

You have configured RMAN SBT channels to write backups to media.

You then take an RMAN backup by using this command:

EMAN> BACKUP AS COMPEESSED BACEUPSET
DATABASE
EEEF UNTIL TIME ‘SYSDATE + 7307
EESTORE PQINT ‘OLD CONFIGURATION' ;

Which three are true? (Choose three.)

A. The restore point is a label for the system change number (SCN) that will be saved two years after the archival backup was taken.

B. The data file backups in the self-contained archive backup are not considered obsolete for two years regardless of the retention policy.
C. All archive logs created after this backup are kept for two years.

D. The SPFILE is included in the self-contained archival backup.

E. The control file is included in the self-contained archival backup.

F The restore point is a label for the system change number (SCN) before the archival backup was taken.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 80
Topic #: 1

[All 120-083 Questions]

The USERS tablespace consists of data files 3 and 4 and must always be online in read/write mode.
Which two are true about using RMAN to perform an open database back up of this tablespace? (Choose two.)

A. Backups must be done incrementally.

B. Backups must be contained in backup sets.

C. Backups can be taken only if the database is in ARCHIVELOG mode.
D. Backups can be done incrementally.

E. The database must be registered in an RMAN catalog.

F. Only consistent backups can be created.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 81
Topic #: 1

[All 120-083 Questions]
Which four are true about RMAN backup sets? (Choose four.)

A. A backup piece can belong to only one backup set.

B. A data file can be split into multiple sections stored in different backup sets.

C. A data file can be split into multiple sections stored in different backup pieces in the same backup set.
D. Blocks from multiple data files can be contained in one backup piece.

E. A backup set can contain only one backup piece.

F. A backup set must be written to media.

G. A backup set must be written to disk.

H. Blocks from multiple data files can be contained in one backup set.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 82
Topic #: 1

[All 120-083 Questions]
Which two are true about creating RMAN backups for an Oracle container database? (Choose two.)

A. Tablespaces from different PDBs with identical names must be backed up by connecting RMAN separately to each PDB to back up the tablespaces.
B. The BACKUP DATABASE command will create a pluggable database (PDB) backup when RMAN is connected to a PDB.

C. SPFILE backups can be created while connected to an application root PDB.

D. The BACKUP DATABASE PLUS ARCHIVELOG command will back up archive logs when RMAN is connected to a PDB.

E. The BACKUP PLUGGABLE DATABASE command can be used to back up CDBSROOT.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 83

Topic # 1

[All 1z0-083 Questions]

Which three can be done using Oracle Database Configuration Assistant (DBCA) starting from Oracle Database 19¢? (Choose three.)

A. cloning a remote container database in interactive mode

B. cloning a remote pluggable database in silent mode

C. relocating a remote pluggable database in interactive mode
D. relocating a remote container database in silent mode

E. cloning a remote container database in silent mode

F relocating a remote pluggable database in silent mode

G. relocating a remote container database in interactive mode

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 84

Topic # 1

[All 1z0-083 Questions]

Examine these queries and their output:

SQL>» select pdb name, name, pdb restore point, clean pdb restore point
2 from wSrestore point natural join dba pdbs;

PDE NAME NAME PDE RESTORE POINT CLEAN PDE ERESTORE POINT

SQL> select property name, property value
2 from database properties where property name like “$UNDO%’ ;

PREOPERTY NAME PREOPERTY WALUE

LOCATL, UNDO ENABLED FALSE

An online RMAN backup of the CDB was taken an hour before Restore Point R1 was created.
You want to recover PDB1 to Restore Point R1.
How do you achieve this?

A. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMAN while connected to PDB1.

B. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQL while connected to PDB1.

C. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQL while connected to CDBSROOT.
D. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMAN while connected to CDBSROO0T.

E. This cannot be done due to the lack of a clean restore point.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 85
Topic #: 1

[All 120-083 Questions]
Which two are true about diagnosing Oracle Database failure situations using Data Recovery Advisor? (Choose two.)

A. Using the Data Recovery Advisor LIST FAILURE command always requires that the database for which failures are to be listed is in MOUNT state.
B. A failure can be closed only when it has been repaired.

C. Data Recovery Advisor can be used if a database is closed.

D. The Data Recovery Advisor CHANGE FAILURE command can be used only to change failure priorities.

E. Data Recovery Advisor can proactively check for failures.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 86

Topic # 1

[All 1z0-083 Questions]

Which two are true about an Oracle gold image-based installation in Oracle 18c and later releases? (Choose two.)

A. It can be used for both Oracle Database and Oracle Grid Infrastructure installation.

B. It can only install and configure Oracle Database software. The database has to be created separately.
C. It does not require the setup wizard.

D. It uses a single RPM that automatically extracts and installs the Oracle Database software.

E. It can be used to install and upgrade Oracle Database for single-instance and cluster configurations.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 87

Topic # 1

[All 1z0-083 Questions]

Which two are true about RMAN duplexed backup sets? (Choose two.)

A. They can be written only to disk.

B. They must be written to media.

C. They can be created by using the RMAN CONFIGURE command to specify duplexing before taking a backup.
D. They can be created only by using the COPIES option of a BACKUP command.

E. They can be written to media.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 88
Topic #: 1

[All 120-083 Questions]
Which should be tuned first when doing a performance tuning exercise for an Oracle Database environment?

A. SQL statements

B. log writer performance

C. general operating system health
D. database writer performance

E. database instance memory management and sizes

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 89

Topic # 1

[All 1z0-083 Questions]

Which three are true in Oracle 19c¢ and later releases? (Choose three.)

A. Tablespaces never remain in read/write mode during transportable tablespace operations.
B. A transportable data pump import can leave a plugged-in tablespace in read-only mode.

C. A transportable data pump import can leave a plugged-in tablespace in read/write mode.
D. Simultaneous data pump jobs can be limited at the pluggable database (PDB) level.

E. Tablespaces always remain in read,/write mode during transportable tablespace operations.

F An ordinary data pump export of a table with encrypted columns will always encrypt the same columns when imported.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 90

Topic # 1

[All 1z0-083 Questions]

Which two are true about the automatic execution of operating system scripts when performing silent mode installation starting from Oracle Database 19¢?
(Choose two.)

A. The response file can specify the root or sudo password.
B. The installer will prompt for the root or sudo password.

C. Silent install always runs operating scripts automatically.

D. The response file must contain the root or sudo password.

E. The response file can specify the path of the sudo program.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 91

Topic # 1

[All 1z0-083 Questions]

Which three capabilities require the use of the RMAN recovery catalog? (Choose three.)

A. using the KEEP FOREVER clause with the BACKUP command

B. using RMAN stored scripts

C. using the REPORT SCHEMA command to list a database's current data files and tablespaces
D. creating customized reports about a single database's backups

E. creating encrypted backups

F using the REPORT SCHEMA command to list a database's data files and tablespaces at times in the past

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 92

Topic # 1

[All 1z0-083 Questions]

Which three are true about the tools for diagnosing Oracle Database failure situations? (Choose three.)

A. The ADR command-line utility (ADRCI) can package incident information to send to Oracle Support.

B. The Automatic Diagnostic Repository (ADR) has a separate home directory for each instance of each Oracle product that is installed and uses it.
C. Flashback commands help with repairing physical errors.

D. RMAN can always repair corrupt blocks.

E. The ADR can store metadata in an Oracle Database repository.

F The Data Recovery Advisor uses the ADR.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 93

Topic # 1

[All 1z0-083 Questions]

The HR_ROOT application container must support the execution of a query on a table shared by application local PDBs PDB1 and PDB2, and remote PDE PDB3.
Which three are true? (Choose three.)

A. A proxy PDB must exist in the application root in the remote CDB.

B. A database link must exist in the local CDB root referring to the remote CDB.
C. PDB3's application root replica must exist in the local CDB.

D. A database link must exist in the remote CDB referring to the local CDB.

E. The HR_ROOT replica must exist in the remote CDB.

F A proxy PDB must exist in the application root in the local CDB.

Show Suggested Answer
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Question #: 94

Topic # 1

[All 1z0-083 Questions]

Which two are true about poorly performing SQL statements and their tuning in Oracle database instances? (Choose two.)

A. SQL statements performing many physical 1/0s can always have their performance improved by creating indexes.
B. SOL statements doing only logical reads never require tuning because they do no physical /0.

C. The solution that best optimizes one SQL statement can degrade the performance of others.

D. SQL statements doing joins always do more physical 1/0 than single table queries.

E. Poorly performing SQL statements can be tuned automatically by the Oracle server.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 95

Topic # 1

[All 1z0-083 Questions]

Which two are true about Rapid Home Provisioning of Oracle software? (Choose two.)

A. It can be used for applications and middleware.

B. It can be used only for Oracle Grid Infrastructure, excluding Oracle Restart.

C. It can be used only for Oracle Grid Infrastructure, including Oracle Restart.

D. It can be used for both Oracle Database and Oracle Grid Infrastructure, including Oracle Restart.

E. It can be used for both Oracle Database and Oracle Grid Infrastructure, excluding Oracle Restart.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 96
Topic #: 1

[All 120-083 Questions]

Your database is in ARCHIVELOG mode and you plan to use Flashback Database.
Which two features or parameters manage space availability in the fast recovery area? (Choose two.)

A. the archived log deletion policy

B. the backup optimization policy

C. the backup retention policy

D. using guaranteed UNDO retention

E. the DB_CREATE_ONLINE_LOG_DEST_n parameter setting
F. the DB_LRECOVERY_FILE_DEST parameter setting

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 97
Topic #: 1

[All 120-083 Questions]
Which two are true about Oracle Database Configuration Assistant (DBCA)? (Choose two.)

A. It can be launched from both the command line and the Universal Installer (OUI) interfaces.
B. It can be used to change the character set of an existing database.

C. It can be used to convert a non-container database to a container database.

D. It can be used to create container databases and non-container databases.

E. It can only be launched from the command line interface.

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 98

Topic # 1

[All 1z0-083 Questions]

Which three are performed by Oracle Automatic Storage Management (ASM) instances? (Choose three.)

A. mounting disk groups

B. managing Allocation Units (AUs) for disk group content

C. managing extent allocation for Oracle database segments

D. acting as an /0 server to write data file blocks to ASM disks on behalf of Database Writer processes (DBWn)
E. managing space allocation for Oracle ASM files

F acting as an 1/0 server to read data file blocks from ASM disks on behalf of database server processes

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 99
Topic #: 1

[All 120-083 Questions]

Your CDB has two reqular PDBs as well as one application container with two application PDBs and an application seed.
No changes have been made to the standard PDBSSEED.
How many default temporary tablespaces can be assigned in the CDB?

A. six
B. seven
C. five
D. eight

E. three

Show Suggested Answer
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Actual exam question from Oracle's 1z0-083
Question #: 100

Topic # 1

[All 1z0-083 Questions]

Application PDBs, SALES_APP1 and SALES_APP2, must be created and they must access common tables of the SALES_APP application.
Examine these steps:

1. Install the SALES_APP application, including the common tables, in the application root.

2. Install the SALES_APP application in the application root and the common tables in both the CDB root and the application root.
3. Create an application seed.

4 Install the SALES_APP application in the application seed.

5. Create the SALES_APP1 and SALES_APP2 application PDBs.

6. Sync the SALES_APP1 and SALES_APP2 application PDBs with the application root.

7. Sync the SALES_APP1 and SALES_APP2 application PDBs with the application seed.

8. Sync the application seed with the application root.

Which are the minimum required steps in the correct sequence?

A.3,41,68
B.2,56
C.1,56
D.1,3,56,7
E1,357
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Actual exam question from Oracle's 1z0-083
Question #: 101

Topic # 1

[All 1z0-083 Questions]

Which two are prerequisites for using FLASHBACK TABLE? (Choose two.)

A. A table's constraints must be disabled before issuing the flashback.

B. The FLASHBACK ANY TABLE system privilege or the FLASHBACK object privilege must be granted to the user performing the flashback.
C. A table's indexes must be set to unusable before issuing the flashback.

D. Row Movement must be enabled on the table being flashed back.

E. The FLASHBACK ANY TABLE system privilege or the FLASHBACK object privilege must be granted to the table owner.
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Question #: 102
Topic #: 1

[All 120-083 Questions]
Which two are true about RMAN Multisection backups when a very large data file is divided into four sections? (Choose two.)

A. Each of the file sections must be processed serially.
B. The four sections can be created serially.

C. The four sections must be image copies.

D. The four sections can be created in parallel.

E. The four sections must be contained in backup sets.
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[All 120-083 Questions]
Which three are true about the Oracle Optimizer? (Choose three.)

A. It obeys all hints.

B. It considers the filters in WHERE clauses when generating execution plans for SQL statements.
C. It can re-optimize execution plans after previous executions detect suboptimal plans.

D. It considers object statistics when generating execution plans for SQL statements.

E. It updates stale object statistics in the Data Dictionary.

F. It can only use SQL Plan Directives tied to the SQL statement for which a plan is being generated.
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Actual exam question from Oracle's 1z0-083
Question #: 104
Topic #: 1

[All 120-083 Questions]

RMAN has just been connected to a target database and the recovery catalog database.
In which two cases would an automatic full resynchronization occur between this target database's control file and the RMAN recovery catalog? (Choose two.)

A. when control file metadata for archive log backups or image copies has been overwritten in the target database's control file due to being older than
CONTROL_FILE_RECORD_KEEP_TIME

B. when control file metadata for data file backups or image copies has been overwritten in the target database's control file due to being older than
CONTROL_FILE_RECORD_KEEP_TIME

C. when a new tablespace is added to a registered target database
D. when a backup of the current control file is created

E. when the target is first registered
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Actual exam question from Oracle's 1z0-083
Question #: 105

Topic # 1

[All 1z0-083 Questions]

You plan to perform cross-platform PDB transport using XTTS.
Which two are true? (Choose two.)

A. A backup of the PDB must exist, taken using the BACKUP command with the TO PLATFORM clause.
B. The source PDB must be in MOUNT state.

C. The source PDB must not be an application root.

D. The source PDB can be in MOUNT or OPEN state.

E. The source and target platforms must have the same endianness.

F Automatic conversion of endianness occurs.
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Actual exam question from Oracle's 1z0-083
Question #: 106
Topic #: 1

[All 120-083 Questions]
Which three true about recovering tables using RMAN? (Choose three.)

A. RMAN can recover tables in the SYSAUX tablespace.

B. RMAN can recover tables owned by the SYS user.

C. RMAN can recover tables in the SYSTEM tablespace.

D. RMAN always uses an auxiliary instance.

E. RMAN can recover tables in a standby database.

F. RMAN can recover a table after a DDL operation has altered the table structure.

G. RMAN can recover tables owed by the SYSTEM user.
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Actual exam question from Oracle's 1z0-083
Question # 107

Topic # 1

[All 1z0-083 Questions]

Which operating system group is NOT needed to perform an Oracle Database installation?

A. OSASM

B. 0SKMDBA
C. 0SDBA

D. 0SOPER

E. OSRACDBA
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Actual exam question from Oracle's 1z0-083
Question #: 108

Topic # 1

[All 1z0-083 Questions]

You want to transport the UNIVERSITY tablespace from one database to another.

The UNIVERSITY tablespace is currently open read/write.

The source and destination platforms have the same endian format.

Examine this list of steps:

1. Make the UNIVERSITY tablespace read-only on the source system.

2. Export the UNIVERSITY tablespace metadata using EXPDP

3. Create a cross-platform backup set from the UNIVERSITY tablespace on the source system, using an RMAN command that includes the DATAPUMP clause.
4. Copy the cross-platform backup sets to the destination system.

5. Copy the Data Pump dump set from the source to the destination system.

6. Restore the cross-platform backup set on the destination system using an RMAN command that includes the DATAPUMP clause.
7. Import the UNIVERSITY tablespace metadata using IMPDP

8. Make the UNIVERSITY tablespace read/write on the destination system.

Which are the minimum number of steps required, in the correct order, to transport the UNIVERSITY tablespace?

A.1,3,4,68
B.3,4,6
C1,2345678
D.2,3,456,7
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Question #: 109
Topic #: 1

[All 120-083 Questions]

Examine this configuration:
1. CDB1 is an Oracle Database 12c Release 2 container database (CDB).
2. PDB1 and PDBZ are two pluggable databases (PDBs) in CDB1.

After successfully performing all the preupgrade tasks, you execute these commands from the Oracle Database 18c environment:
$ export ORACLE_SID=cdbl

$ sqglplus / as sysdba
SQL> STARTUP UPGEADE;

SQL> SHOW pdbs

CON_ID CON_NAME OPEN MODE EESTRICTED
2 PDBSSEED MIGRATE TES
3 PLOE1 MOUNTED YES
4 FDB2 MOUNTED YES

SQL> ALTER PLUGGABLE DATABASE pdbl OPEN UPGRADE;
Pluggable database altered.

SQL> exit

$ SORACLE HOME/perl/bin/perl catctl.pl -C 'PDB2'
What is the ocutcome?

A. It fails because PDBSSEED is in MIGRATE state.

B. Only CDBSROOT, PDBSSEED, and PDB2 are upgraded.
C. Only CDBSROOT, PDBSSEED, and PDB1 are upgraded.
D. CDBSROOT, PDBSSEED, PDB1, and PDB2 are upgraded.
E. Only CDBSROOT and PDBSSEED are upgraded.

F. It fails because PDB2 is not in UPGRADE state.
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Topic # 1

[All 1z0-083 Questions]

Which three are true about a whole database backup? (Choose three.)

A. It can consist of either backup sets or image copies.

B. It is the only possible backup type for a database in NOARCHIVELOG mode.
C. It can be consistent.

D. It can be created only by using RMAN.

E. It can be inconsistent.

F It always includes all data files, the current control file, the server parameter file, and archived redo logs.
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Question # 111

Topic # 1

[All 1z0-083 Questions]

Which two are true about reclaiming space used by Flashback logs in Oracle Database 19¢c and later releases? (Choose two.)

A. Space is always reclaimed automatically when the retention period for Flashback logs is lowered.
B. Space might be reclaimed proactively before space pressure occurs.

C. Space might be reclaimed automatically when the retention period for Flashback logs is lowered.
D. Space is only reclaimed when there is space pressure in the Fast Recovery Area. (FRA)

E. Space is always reclaimed proactively before space pressure occurs.
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[All 120-083 Questions]
Which three are true about SGA memory management in a multitenant database? (Choose three.)

A. Setting DB_CACHE_SIZE for a PDB guarantees a minimum amount of Database Buffer Cache memory for that PDB.
B. The SHARED_POOL_SIZE setting for a PDB can be up to 80% of the SHARED_POOL_SIZE setting of the root container.
C. Setting SHARED_POOL_SIZE for a PDB guarantees a minimum amount of Shared Pool memory for that PDB.

D. The SGA_TARGET setting for a PDB cannot exceed 50% of the SGA_TARGET value of the root container.

E. Setting SGA_TARGET for a PDB guarantees a minimum amount of SGA memory for that PDB.

F. SGA_MIN_SIZE cannot be set for a PDB.
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Topic # 1

[All 1z0-083 Questions]

Which three actions will add a resource to an Oracle Restart configuration? (Choose three.)

A. creating an Oracle Database service by modifying the SERVICE_NAMES parameter
B. creating a disk group using the CREATE DISKGROUP SQL statement

C. creating a database using the CREATE DATABASE SQL statement

D. creating a database service using DBMS_SERVICECREATE_SERVICE

E. creating a database service using Oracle Database Configuration Assistant (DBCA)

F creating an Oracle Automatic Storage Management (ASM) instance with ASM Configuration Assistant (ASMCA)
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Actual exam question from Oracle's 1z0-083
Question #: 114
Topic #: 1

[All 120-083 Questions]
Which three are true about creating container databases (CDBs) and pluggable databases (PDBs) in Oracle 19¢ and later releases? (Choose three.)

A. A PDB snapshot can be a sparse copy of a source PDB.

B. A PDB snapshot depends on an existing storage snapshot of the source PDB.

C. ACDB can be duplicated using Recovery Manager (RMAN) with no configuration required before starting the duplication.

D. A CDB can be duplicated using the Database Configuration Assistant (DBCA) in silent mode with no configuration required before starting the duplication.
E. A PDB snapshot can be a full copy of a source PDB.

F. A snapshot copy PDB can be a full copy of a source PDB.

G. A snapshot copy PDB does not depend on an existing storage snapshot of the source PDB.
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Question # 115

Topic # 1

[All 1z0-083 Questions]

Which two are true about Oracle Grid Infrastructure for a Standalone Server? (Choose two.)

A. It supports volume management, file system, and automatic restart capabilities.

B. It must be installed before the Oracle database software is installed.

C. The CSS daemon runs from the Grid Infrastructure home.

D. It can manage database resources on the server where it is installed or on a different server.

E. It requires Oracle Automatic Storage Management (ASM) components to be installed separately.
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Question # 116

Topic # 1

[All 1z0-083 Questions]

Which two are true about an RPM-based Oracle Database installation? (Choose two.)

A. It uses a service configuration script to create a single-instance database as part of the installation.

B. From Oracle Database 18c, a single RPM can be used to install only Oracle Database Server for a single instance.
C. It performs a software-only Oracle Database installation.

D. It includes the Oracle Preinstallation RPM.

E. It requires an Unbreakable Linux Network (ULN) subscription.
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Question #: 117
Topic #: 1

[All 120-083 Questions]

HR_ROOT is an application container with the HR_APP application installed.

No application PDBs and no application seed have yet been created in HR_LROOT.

An application PDB, PDB1, must be created so that the HR_APP application's common objects are accessible to it.
Which two methods can be used? (Choose two.)

A. Create an application seed, and install HR_APP in it.

B. Create the PDB1 application PDB and install HR_APP in it.

C. Create an application seed, synchronize it with HR_ROOT, and then create the PDB1 application PDB.
D. Create the PBD1 application PDB and synchronize it with HR_ROOT.

E. Create the PBD1 application PDB and synchronize it with PDBSSEED.
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Topic # 1

[All 1z0-083 Questions]

Which three are true about Rapid Home Provisioning of Oracle software? (Choose three.)

A. It can be used only on nodes with Oracle Grid Infrastructure installed.

B. It can be used to patch existing Oracle software installations.

C. It can be used to create templates of Oracle homes as gold images of only Oracle databases.
D. It can be used to deploy new homes without disrupting active databases.

E. It can be used to create a single-instance Oracle Database in an already-installed Oracle home.

F It can be used to upgrade only single-instance databases running on Oracle Restart.

Show Suggested Answer




EXAMTOPICS PRO POPULAR EXAMS VIEW ALL EXAMS DOWNLOAD FREE COURSES CONTACT FORUM Q

Actual exam question from Oracle's 1z0-083
Question # 119

Topic # 1

[All 1z0-083 Questions]

In performance management, which two factors might reduce the ability of an application to scale to a large number of users? (Choose two.)

A. poorly written SQL

B. the number of tablespaces containing tables updated by a transaction

C. poorly trained users who do not commit transactions

D. the number of data files containing extents belonging to tables updated by a transaction

E. issuing multiple savepoints during a transaction
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[All 120-083 Questions]

You issued this command:
RMAN=> BACKUP RECOVERY AREA FORCE;
Which three are true? (Choose three.)

A. All files in the current FRA that have been backed up already, are backed up.

B. All Oracle recovery files normally written to the FRA and which have been backed up already to the current FRA, are backed up.

C. All Oracle recovery files normally written to the FRA and which have been backed up already to in any previous FRA, are backed up.
D. All Oracle recovery files normally written to the FRA and which have not yet been backed up, are backed up.

E. All files in any previous FRA that have not yet been backed up, are backed up.

F. All files in the current fast recovery area (FRA) that have not yet been backed up, are backed up.

G. All files in any previous FRA that have been backed up already, are backed up.
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